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13|30] 650 | 754 | 878 | -38 [175]| 165 | O 7 | KB, ETS

14| O] 650 | 735 | 931 40 174 | 167 | O16 | KB, ETIS

14130] 650 | /63| 887 | -39 |1/7/5]1 168 | 017 | KB, BEIS

15| O] 650 | 743 | 894 | -39 [173 | 166 | 016 |AE, EITS

15|30] 650 [ 809 | 869 | 43 [174| 166 | O.16 | KB, ETITS

16| O] 650 | 776 | 847 | 47 [174| 166 | O.16 | KB, ETITS

16/30] 650 | 796 | 869 | -39 |1/3| 166 | 016 |[KXB, EIS

17] O] 1300 | 812 | 924 | -42 [174]| 166 | O17 | K&, fillifE

BASE] 11700

55 B G:&#nfi6 XE (WESh,. RE. W&, ZDf)
1 10 :25A
2 20 : 00t]




